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SEMORIER S
#HXS—2 BEYIERY HLBESNHEHRICET HEEA/1) ) i BT
[ SEREOfE | BmEs 71751018 BA | T 20 [ it | DA s B o]
. SUERHhD Tin(ZhEEd 51 SER A
ﬁg TEFEOBHOEILEHNOKRES TERFDOHBEEILNOKRES TEEOBHOEILENDOKRES TREOHBSSILIDKRES
&= X 4 ;.%;q‘c)k Tﬁﬁ*ﬁb\(‘z)d)ﬁﬁﬁﬁ 7‘3(&3&3‘5 X 4 Tﬁﬁﬁ?&\é‘;&?ﬂz ;.i‘c)k J‘J(glitm%)é X 4 E.-i;_)k J:ﬁn*a;ﬁ\(‘z)d)tl:‘.é.' jj(lf’?;tnié X 4 J:ﬁn*a;ﬁ\(‘z)d)tl:‘.é.' ;.i‘c)k t(lfifrf)é
7 100kN/m%Zi#8zx5 | 1.00| 000 ~ 091 11371 |3mZE#BRB| — ~ — — — | 100kN/mM%#B=25 | 1.00 | 1056 ~ 1335 11371 |3mE#BZ% - ~ — — —
zhst 100091 ~ 870 100.00 | Ths |o0oo ~ 870|215 11.51 zhst 1.00 | 6.00 ~ 1056 100.00 | Ths | 65,00 ~ 1335|216 11.51
2 100kN/mZ#B25 | 1.00 000 ~ 0.72| 110.68 |3mZE#BZZ| — ~ — — — | 100kN/M%#BZ% | 1.00 | 1087 ~ 1293 110.68 |3m%EiBz3 - ~ — — —
FhLst 1.00 |1 0.72 ~ 850 100.00 | =hst | 000 ~ 850|232 12.43 FhnLst 1.00 | 6.00 ~ 1087 100.00 | =hst | 5,00 ~ 1293| 232 12.43
3 100kN/mZ#Bz25 | 1.00 )| 000 ~ 1.08| 11627 |3mx#Bz%| — ~ — — — | 100kN/M%#BZ% | 1.00 | 1066 ~ 1392 11627 |3mZEiBzi3 - ~ — — —
Thilst 100108 ~ 887 100.00| ZhLs | 000 ~ 887|227 1215 ThLlst 1.00 | 56.00 ~ 1066 100.00| TnLHS | 5,00 ~ 1392 2.27 12.15
4 100kN/m%Z#8z25% | 1.00 | 000 ~ 1.13| 11700 |3mZEBz5| — ~ — — — | 100kN/m%#8z2% | 1.00 | 1222 ~ 1620 117.00 |3m%E#BZ% - ~ — — —
zhst 1.00 | 1.13 ~ 891 100.00 | =nlsy | 000 ~ 891|271 14.51 zhs 1.00 | 6.00 ~ 1222 100.00 | =h5 | 6,00 ~ 1620| 2.71 14.51
5 100kN/m%Z#8z25% | 1.00 | 000 ~ 1.73| 12661 |3mEBZE| — ~ — — — | 100kN/mM%#B=25 | 1.00 | 1080 ~ 1673 126.51 |3mE#BZ3 - ~ — — —
zhLst 1.00 | 1.73 ~ 9.51 100.00 | =Sy | 000 ~ 951 | 2561 1341 zhs 1.00 | 6.00 ~ 1080 100.00 | =5 | 6.00 ~ 1673| 2.61 13.41
P 100kN/m%Z#8z25% | 1.00 | 000 ~ 126| 119.07 |3mZE#Bz5| — ~ — — — | 100kN/m%#8z2% | 1.00 | 11.96 ~ 1639 119.07 |3mE#BZ5% - ~ — — —
Thilst 100126 ~ 905 100.00| FnLs | 000 ~ 9.05| 2.68 14.37 ThLlst 1.00 | 5.00 ~ 11.96| 100.00 | TN | 5,00 ~ 1639| 2.68 14.37
7 100kN/mM%Z#825 | 1.00 | 000 ~ 321 151.32 |3mZi#B2B| 000 ~ 009 | 5.05 16.30 | 100kN/m%#825 | 1.00 | 1067 ~ 3639 151.32 |3mE#Z23B| 30.00 ~ 3639| 3.05 16.30
FhLst 1.00 | 321 ~ 1099 100.00 | TN | 0.09 ~ 1099 3.00 16.05 FhLst 1.00 | 6.00 ~ 1067 100.00| FnS | 6.00 ~ 30.00| 3.00 16.05
100kN/ M%#8 2 % ~ ImEHBRD ~ 100kN/ mM#%#BZ % ~ IMEEAD ~
zhst ~ st ~ zhst ~ Fhst ~
100kN/ M%#8 2 % ~ 3ImEAD ~ 100kN/ Mm%z 5 ~ ImEBRD ~
zhst ~ st ~ zhst ~ Fhst ~
100kN/ M%#8 2 % ~ 3mEHAD ~ 100kN/ Mm%z 5 ~ ImEBRD ~
zhst ~ st ~ zhst ~ Fhest ~
100kN/ M%#8Z % ~ ImEBRD ~ 100kN/ mM#%#BZ % ~ IMEEAD ~
zhst ~ zhusn ~ zhst ~ zhst ~
100kN/ M%#8 2 % ~ ImEHBRD ~ 100kN/ mM#%#BZ % ~ IMEAD ~
zhst ~ zhusn ~ zhst ~ zhst ~
100kN/ M%#8 2 % ~ ImEHBRD ~ 100kN/ mM#%#BZ % ~ IMEEZD ~
zhst ~ st ~ zhst ~ Fhest ~
100kN/M%#8 2 % ~ 3mEHAD ~ 100kN/ Mm%z 5 ~ ImEBRD ~
zhst ~ st ~ zhst ~ Fhest ~
100kN/ M%#8 2 % ~ 3ImEAD ~ 100kN/ Mm%z 5 ~ ImEBRD ~
zhst ~ st ~ zhst ~ Fhst ~




